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Note — C-éuc-stion No. .1 35 compulsory. Attempt any four

questions frf'ém ‘the remaining questions.
Al gquestions carry cqual marks. -
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1. Objectivity is not always essential in social science
research. Commaoent and highlight the main arguments

in the debate between bhjcctim;t}- and subjectivity.
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( 2 ) Socio-1
What is the role of norms and values in binding society

into organic whole ? Explain.
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Discuss the sociological significance of religion in modern

society.
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Examine how open and closed systems of stratification -
are undergoing transformation in the emergence of new

hierarchical social order in society ?
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“Weber has at least made the affinity betweeq a religious
attitude and an economic commandment credible”
- (Raymond Aron). In this context, critically examine the

theory of Protestant Ethic and the Spirit of Capitalism.
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Analyze Durkheim’s idea. on the Division of Labour in
society. How does it help him to build up an evolutionary

sequence 7
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Highlight' the challenges of science and technology policy |

in context to globalization in India.
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i 4 ) Socc-1
8. Discuss the population policies that "have piayed an
important role in inﬂ'uencin_g the populs_i_i':_ion__d}mmnics
in India.
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